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P : in his innocence
Q: I believed
R : of the charge
S : and aquittal
The correct sequence should be
(a) SQRP
(b) QPSR
(c) PRSQ
(d) RPQS
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My little sister
P : in school
Q: instead of reading books
R: who was quite intelligent
S: played with dolls
The correct sequence should be
(a) PRSQ
(b) RSPQ
(c) QPSR
(d) PRQS
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P: for having stood first
Q: last year
R: at the BA examination
S: he was awarded gold medal
The correct sequence should be
(a) PQRS
(b) SPRQ
(c) PRQS
(d) SRQP
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At the end of the morning exercise,
P : the soldiers
l: to get ready to leave
R: were asked
S : for an unknown destination
The correct sequence should be
(a) PQRS
(b) RSPQ
(c) SRQP
(d) PRQS
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After having got up from bed
P : the Magistrate
Q : to bring coffee
R : ordered the attendant
S : immediately
The correct sequence should be
(a) PQRS
(b) SPQR
(c) SPRQ
(d) PRQS
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P : she
Q: and neither have I
R : the assignment yet
S : hasn't finished
The correct sequence should be
(a) QRSP
(b) QPSR
(c) PQSR 
(d) PSRQ
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S1: And then Gandhi came.

S6: Political freedom took new shape and then acquired a new content.

P: Get off the backs of these peasants and workers, he told us, all you 
who live by their exploitation.

Q: He was like a powerful current of fresh air, like a beam of light, like a 
whirlwind that upset many things.

R: He spoke their language and constantly drew their attention to their 
appalling conditions.

S: He didn't descent from the top, he seemed to emerge from the 
masses of India.

The proper sequence should be
(a) QSRP (b) SRQP (c) RSQP (d) PRSQ
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S1: Ants eat worms, centipedes and spiders.
S6: Some jump, and some give out a pungent repellent substance.

P: They are usually much quicker than the ant itself.
Q: Nevertheless, these animals do not make easy game for ants.
R: Besides, they have an extraordinary number of ways of 
escaping.
S: They also eat larvae and insect adults such as flies, moths and 
spring tails.

The proper sequence should be
(a) SQPR (b) SPRQ (c) SRPQ (d) SRQP
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S1: The future beckons to us.
S6: There is no resting for anyone of us till we redeem our pledge 
in full.
P: Infact we have hard work ahead.
Q: Where do we go and what shall be our endeavour?
R: We shall also have to fight and end poverty, ignorance and 
disease.
S: It will be to bring freedom and opportunity to the common man.

The proper sequence should be
(a) PSRQ (b) QPSR (c) QSRP (d) SRPQ
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S1: It was a dark moonless night.
S6: They all seemed to him to be poor and ordinary mere childish 
words.
P: He turned over the pages, reading passages here and there.
Q: He heard them on the floor.
R: The poet took down his books of poems from his shelves.
S: Some of them contained his earliest writings which he had 
almost forgotten.

The proper sequence should be
(a) RPQS (b) RQSP (c) RSPQ (d) RPSQ
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